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Makem Limited
Profit and loss account for year ended 31.3.06
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Makem Limited
Balance sheet as at 31.3.06
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% business performance using ratio

We can now calculate the ratios for the firm and comment on them.

Makem Limited i
Ratio analysis year ending 31.3.06 e

Return on capital employed

= 14.75%

A return of almost 15% compares very favourably with most other investments, so this suggests the
company is a good investment.

Return on net assets 14.75%

Details are the same as for return on capttal employed.

Gross profit percentage — x 100 = 29.62%

059
Aresult of over 29% looks very healthy, £29 being earned for every £100 of sales made. However. this
should be compared with previous years to check that it i not deteriorating.

- 439%

Net profit percentage

231,05
This result seems rather low. only £4.39 of net profit from every £100 of sales. However, this should be
compared with previous years and with similar businesses. There docs, though, appear to be a large gap
Between gross and net proft percentages. which couldindicate that the company's expenses are rather high.

Gearing ratio x 100 = 32.86%

Deb is only 33% of capital invested which does not seem too high. If the percentage were closer to 100%
an investor might be worried about the safety of his or her investment should the loans have to be repaid.
but in this case there would seem little to worry about.

Price/earnings ratio

This cannot be calculated unless we have & figure for the company’s share price. This is not reported in the
company accounts.

Dividend cover ~ 2840450 =430 =144

A figure of 1.4 does not give high dividend cover ~ it suggests that profts wil not have to fall by a long
way before dividends could be under threat. This would be a warning sign for the investor.

Stock turnover = 2 = 62.73 days

Allost 63 days to sell stock seems quite a long time. but this is a manufacturing company and lengthy
stock turnover periods are not rare. It would be helpful to compare this with previous years to check that
the situation is not deteriorating.

Asset tumover = 221052 - 3361
This is a fairly low figure. but that is to be expected from & manufacturing company which uses & lot of fixed

assets. Again we should compare this figure with previous years to check whether the situation is changing.

Debtor collection period =

= 51.31 days

Debrors are taking a long time to pay their bills - almost two months on average - so we might conclude
that the company is either offering long periods of credit or is not managing its debt collection as well as it
might. This is made worse when we look at the creditor payment period below.
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Creditor payment period = {2280 . 365 = 41.44 azys

An average of 41 days to pay bils suggests that the company has either negotiated good cedit ermms with
supplers or i struggling to pay its bils. The company is also having to pay bill 10 dayes, an average,
before it is paid by debtors. This suggests possible cash flow problems,

Current ratio - 5252 - 2861

The current raiolooks reasonably healthy: current assets are nearly three times as much as current
uch difficulty meeting debts that need to be paid in the near future.

The acid test also shows a good picture. Even with stocks taken out of the current assets the firm still has
sufficient liquid assets to cover its bills, so it seems to be in a liquid position.

It should be noted here that there are significant limitations to the value of the analysis above. The ratios
give an accurate picture. but only of the company at one specific moment in time. Although we can draw
some conclusions from the results, it would be helpful to put the results into context. For example. how do
the ratio results compare with other companies in the same line of business ratio might look good, but
comparison across the industry could reveal that the firm is underperforming.

Equally. it would be useful to compare the results with those for the same company but from previous years.
‘The acid test result of 1.78:1. for example. looks healthy, but how does this compare with last year: Is it
improving or worsening? If the situation were worsening. this would put a very different light on the result.

[Outcome activity 10.4)
Vwaresﬂmrkmasm accounts clerk for a fimm of accountants known as. Mason, Wright and Partrers as
in Outcome Activities 10.1. 10.2 and 10, 3 previously.

Pass

Having completed his sec of fnal accounts, Kong Han asks y0u to make an anaiys's of them to dentity any
Apeus and weaknesses of i business. Therefore. using the inal accoun that you prepared in Oucorse
Activides 10.1 and 10.2 and using appropriae ratcs, anayse his acing account, okt ane oss account
nd balance sheet

e, expiaining what it shows and identifying the sirengehs
and weaknesses of the business. Your ANSwer 10 1is 1ask Shoulc be presented in the form of a letter
addressed to Mr Han 2t Kong’s Collectiles, 95 Front Street, Sheffed $2 55)

Distinction
Condlude your letter by identying and explaining the limiations of your ratio anayss to Mr Han You
Shouid o the following

1 Bxamine each of the ratios you have caiculated and criticall examine the resulc that it gives.
2 Explain how refiabie you believe the resuits of each of the ratios are.

3 Explair what Mr Han shoud do or wnat otner information he would need, to make sure that the
Thessages he gexs from the ratio anaysis are sufficienty relable for him to base significant business
Gecisions on them,





